Qutline
. SOHCAH TOA
- 2‘ —T;isonomeNfC ‘



= fcos(e) cos(0) dB
= fcos"(e)de



= [ (14 caan))do
O = -%_-6 -+ -%-sfn(ge) ar.C
‘ 25

* f\r_—\-xldx 36 + £ 5in(26) +C

Xz Sin(B) 6= Sin-'(X) |



- 2. SoHCAH ToA

X = a-sin(6)
- gin fe) = _?_(_ = Opp:
o q hyp.

(6) = X o= o
Sin ) a CSC() x

- Q
cos(p) = Ja'x* sec(8) = o oxt




3 Substiton

(1) When a Factor: '

' \] at — X° _
is in Hhe integral, we:
‘x = O Sin(e). "
dx = o cos(6) d6
and Lie identity
cos(®) = | — sin*(6)
4k cost() = ar— ol sin*(B)



_ C‘n- when a -Gachr':

\1 at + X°
(s in +he indegral, use;
Y= o +an(6) -
dy = a- sec?*(0)df
ond wie the ideahty:
)+ ran*(8) = sec*(6)
o + a®+as(B) = ot sec'(E)

3 vz 2 sec?
ot + X = atsec’®)



WY TL o fackor of:

o
\S Presen_-)- Ta) ind-egra-l, we:
X = a - sec(d) _
dx = a. sec(d) +an(p) 46
ond we Hhe idenhhy:
secl®® -] = +an'(6)
a" . Sgc"(e) - a_" = d‘ "‘ﬂﬂzle)



4‘. Exatmp_’_{_._r_ '

Evaluate ! 5 x* dx

Soluton . a*—x* a=4
0 X = 4. sin(6)
dx = 4. ces(8) dE&

® ( x} i = 64 sin’(e)

W JJ16-16si6)

\ ey s

\I 16 cos¥(0)

| S —
4. cos(6)

beosfds




}

. sin¥(B) +Co§"(9) S ,
= (eusinfe)- (1~ cu'6)) do
= jcqswe)de - f ¢4 sin(6)cos’(8)d6

ue ¢osld)

= —6Glcos(6) + _é_;!_. cos?(8) 1C

Xz ‘I'Sa‘nfe) N
- X X
Sfﬁ(a) - 4 | |
Vo .

_ s
cos(8) = Typ 6= X

&4

y 3 _ -
f\ﬁz—';‘— dx = J‘GQ' S"f\’(e) dé




- Express Firal anrwe~ In

terme of x ‘
dx = =64, Jig-x?
‘{Ju-x"- o Ty

+_§_q,<m=—’ + ¢



i) Evaluate I o ,
X
X

Solutien _ -m =3

K = 3. +dn-(9‘)

| d* - 3. SQC"(B) de
Subshtute into in+e3r4.l:

S J‘iﬁ"d" f 141 +°°(°3sec'(9)de

3. 'l'an(G

= ((Bs® 5o agde
3 +anl@)

— 3 SQCa (9) d
+an () S



= f3~ sec3(6) d6
' +an (6)

' cee(B) = b denld) = 5ir (6)
sec(0) e .' b ®)

3cec®) 3 casts)

. +an(9)_ Cos3(0) . Sin(6)
= 3.4 W
cos®(6) . sin(d)

= 3 (sin¥B) +cos*(e))
 Cos?}(B) ‘ sin(®) _

- 35in%9) + 3 cos*(e)

- os¥(B) sinlB)  cas¥B) sin(6)



) L 2
co*(B)  sinlp)
Lntegrating
3. sec (o)
d
+on() ©
- 3 3“\(6) 3 de
CoS"(e) de + J'm(B)
= | ‘ sc(6) —
3 () + 3.4n /c () co-da)/"'c

- Put antiderivahive bock I
ferms of X:



= 3 "HM(B)

tan(b) =

opp - X
adj 3

3% Cos(D) — I —

cselb)= Jpar




